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1. c if x =-3
B 9-x* . . ‘
If f(x)= mlf x| <3 . then fis continuous on [—3,3! provided
d if x =3
a)c=8andd=-8 b)c=d=8 c)c=-8 d=28 dc=d=6 e)c # d
2. If f(x)={ [ x| it [x|<1
2 - | x| if x> 1 . then which of the following is true?

a) fis not continuous at x = | but it is differentiable at x = |
b) fis differentiable at all x
¢) fis continuous but not differentiable at x = 0
d) fis continuous and differentiable at x = |
e) none of these
3. A rectangle has its vertices on the X -axis, the y-axis, the origin, and the graph
of y= 4-x’. Pind the maximum possible area for such a rectanglle.

o %—3‘_ b) 16;/5 ) 2%—1 d) 23 ) none of these

n

4, fsinx(l+\/cosx)2dx equals

a) lg— b) 3 ¢) -]62 d) _162 e) none of these

9. The area bounded by the curves y+x' =0, y= Jx , and 3y+7x =10 equals

a) —5~3— b) 2 c) —S—3~ d) 2 e) none of these
3 4 6 5

6. The volume of the solid generated by revolving the region bounded by the curve
y=x',x=-2, and ¥ =0 about the x-axis equals

1
a) 12587I w187 o) 207 § 1287

e) none of these

1

7. The series Z

n=l ‘n(n)
. 1 ) ) 1
a) converges by comparison to a, =— b) diverges by comparison to a, =—
n n
. ) 1
c) converges by the integral test d) converges by comparison to a,=—
n

e) none of these
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10.

2 3
X

The interval of convergence of s = +W+

X .
273 PR

a) (——3,3) b) [—3,3) c) (—3,3] d) [—3,3] €) none of these

What dose H (x* = y*)d4 equal where R is bounded by y=x',x=0 and
R

y=07?
45 45 9 1
a) —— b) —— ¢) — d) — e) none of these
364 364 46 5
The volume of the solid in the first octant bounded by x+y=4andz=1xyis

2 3
a) % b)IS ¢) % d) 4? e) none of these
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Using the Definition of a Limit, Show that Iiml = l,c #0.
X=¢ X c

Show that f(x)=+2x+1+2x is continuous at 3.

Show that f satisfies the hypotheses of Rolle’s theorem on the interval [2,6], and
find all numbers ¢ in (2, 6) that éatisfy the conclusion of Rolle’s theorem for
S(x)=2x*=16x+11.

A solid has as its base the region in the xy -plane bounded by the graphs of

y'=4x and x=4. If every cross section by a plane perpendicular to the
¥ -axis is a semicircle, find the volume of the solid.

Express H (3x+2y)dA over the triangular region with vertices (-2, -2), (-1, -2),
R

(-1, -1) as an iterated integral and find its value.




